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Turn in Homework #2:

Friday ­ 5.1#83­97 odd
Monday ­ 5.3 #29­37 odd, 39­70 all
Tuesday ­ 5.3 #79­82 all; 5.4 #1­23 odd,27,31,45,47,53
Wednesday ­ 5.5 #7­24 all
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Homework questions?
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2. An earth satellite in circular orbit 1200 km high makes one complete 
revolution every 90 minutes.  What is its linear speed in km/min, given 
that the earth's radius is 6400 km?
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3.  Through how many radians does the minute hand of a clock rotate 
from 12:45pm to 1:25pm?

4. A car travels at 60 miles per hour.  Its wheels have a 24 inch diameter.  
What is the angular speed of a point on the rim of a wheel in revolutions 
per minute?
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Homework:

Five problems on handout and 5.4#61­79*odd

*note that the answer to #79 in your textbook is incorrect.
 the correct answer is ~119 radians.
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